. 0.S.D.A.V.Public School, Kaithal
=" May Test (2025-26)

Subject: Mathematics (Set A)
Class: VII

Time: -1:20 hrs M.M.:- 30
Q.No. Questions Marks
Section-A
1. How many rational numbers are lie between two rational numbers? 1
a)Infinite b)Two c)Seven d)Zero
2. Absolute value of %5 1s: 1
-5 5 9 -9
3. Identity element of addition is : 1
a)l b)2 c)0 d)does not exist
4. Additive inverse of Z 1s- 1
-3 8 3 -3
5. Assertion(A): a x b=b x a is called the commutative law for multiplication 1
Reason(R): Rational Numbers are commutative under addition and multiplication.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true and R is not the correct explanation of A.
c) A is true but R is false.
d) A is false but R is true.
Section-B
6. Find the value of x if- - = — 2
26 13
7. Represent _?3 on number line. 2
8. Compare the following rational numbers: %4 , I—f 2
9. What number should be added to % so as to get 2? 2
Section-C
10. Find the value of x — y and y — x for x=§, y = 1% . Are they equal? 3
1L | Simplify: — + — 4+ +-~ 3
10 12 6 15
12 | i) Check if the reciprocal of — is —>? 1.5+1.5
i1) Find the standard form of % :
Section-D
13. Arrange the following rational numbers in ascending order. 4
-9 7 13 —4
10 > -15730° -5
14 4

For XZ% ,y=§ ,Z= I—; verify that : xH(y+z) = (x+y)+z
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0.S.D.A.V.Public School, Kaithal
May Test (2025-26)
Subject: Mathematics (Set B)

Class: VII

M.M.:- 30
Q.No. Questions Marks
Section-A
L. Additive inverse of % 1s- 1
-3 4 3 -3
2. Identity element of multiplication is : 1
a)l b)2 c)0 d)does not exist
3. Absolute value of _75 1s: 1
-5 5 7 -7
4 Which of the following is a negative rational number? 1
a)— b)— ) d)0
5. Assertion(A): a x b=b x a is called the commutative law for 1
multiplication
Reason(R): Rational Numbers are commutative under addition
and multiplication.
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true and R is not the correct explanation of
A.
c) A is true but R is false.
d) A is false but R is true.
Section-B
6. What number should be added to % so as to get 27 2
7. Compare the following rational numbers: 2
-4 -9
7’13
8. Represent _75 on number line. 2
9. Find the value of x if- 2
x -9
24 —12
Section-C
10. 1) Check if the reciprocal of _?3 is _?8 ? 3
i1) Find the standard form of % :
11 Find the value of x —y and y — x for x=§, y= ﬁ . Are they equal? 3
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12.

implify: — 4+ 2242548 3
Simplify: TR T
Section-D
13. For X=§ ,y=; ,z=1—3 verify that : x+(y+z) = (x+y)+z 4
14. Arrange the following rational numbers in ascending order. 4
-7 11 17 -3
10°-15°30° 5
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OSDAYV Public School, Kaithal

May test 2025. Set -B
Class: VI
Subject: Maths
Time: 1 hr 30 min. M.M: 30
Q.No. Questions Mark
s

Section A
1 (a)_T3 1
2 (a)1 1
3 (b)g 1
4 (a)_?s 1
5) (a) Both Assertion and reason are correct and reason is the correct explanation for assertion. 1

Section B
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OSDAV Public School, Kaithal
May test 2025. Set -A

Class: VII

Subject: Maths

Time: 1 hr 30 min. M.M: 30
Q.No. Questions Marks
Section A
1 (a)Infinite 1
2 (b)g 1
3 (c)o 1
4 (a)_?3 1
5) | (a) both Assertion and reason are correct and reason is the correct explanation for assertion. 1
Section B
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